2tgx + tg2x=tg4x
2*sinx/cosx+sin2x/cos2x=sin4x/cos4x
2*sinx/cosx+2*sinx*cosx/cos2x=2*sin2x*cos2x/cos4x
2*sinx/cosx+2*sinx*cosx/cos2x=4*sinx*cosx*cos2x/cos4x
sinx/cosx+sinx*cosx/cos2x-2*sinx*cosx*cos2x/cos4x=0
sinx/cosx+sinx*cosx(1/cos2x-2cos2x/cos4x)=0
sinx(1/cosx+cosx(1/cos2x-2cos2x/cos4x))=0

1)sinx=0

2)1/cosx+cosx(1/cos2x-2cos2x/cos4x)=0

1)x=Pn

2)1/cosx+cosx/cos2x-2cos2x*cosx/cos4x=0
(cos2x+cosx*2)/cosx*cos2x-2cos2x*cosx/cos4x=0
(2cos*2x-1+cos”2x)/cosx*(2cos2x-1)-2cosx(2cos”2x-1)*cosx/(2cos?2 2x-1)=0
(3cos”2 x-1)/(2cos3-cosx)-2cosx(2cos?2 x-1)*cos/(4cos™4 x-2)=0

cosx!=0
cos2x!=0
cos4x!=0
cosx!=0
x!=P/2+Pn
cos2x!=0
2x!=P/2+Pn
x!=P/4+Pn/2
cos4x!=0
4x1=P/2+Pn
x!=P/8+Pn/4

2 nyTb
2tgx + tg2x=tg4x

tgx+tgx + tg2x=tg4x

tgx + tg2x=tg4x-tgx

MpeBpawaem Bce B sinfcos U T g
sinx/cosx+sin2x/cos2x=sin4x/cos4x-sinx/cosx
(sinx*cos2x+sin2x*cosx)/cosx*cos2x=(sin4dx*cosx-sinx
*cos4x)/cosx*cos4x
sin(x+2x)/cosx*cos2x=sin(4x-x)/cosx*cos4x
sin3x/cosx*cos2x=sin3x/cosx*cos4x
sin3x/cosx(1/cos2x-1/cos4x)=0

sin3x/cosx=0
sin3x=0
3x=Pn
x=Pn/3

1/cos2x-1/cos4x=0
(cos4x-cos2x)/cos2x*cos4x=0

cos4x-cos2x=0

2cos’2 2x-1-cos 2x=0

COS2X=y
2y"2-y-1=0
y1=(1+3)/4=1
y2=(1-3)/4=-"2
cos2x=1
2x=2Pn

x=Pn
COS2x=-Y2
2x=2P/3+2Pn
2x=4P/3+2Pn
x1=P/3+Pn
x2=2P/3+Pn
OTtBeT:Pn/3;

P/8+P/4 > P/3




